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QUESTION 1

Examine the data in the CUST_NAME column of the customers table.

CUST_NAME

Julia Nayer

You need to display customers\\' second names where the second name starts with "Mc" or "MC." Which query gives
the required output?

A) SELECT SUBSTR(cust_name, INSTR(cust_name,"' ')+1)
FREOM customers

WHERE INITCAP (SUBSTR (cust_name, INSTR(cust_n ¢ "Y1} )="Mc';
"

B]SELECT SUBSTR (cust_name, INSTR{cust_ name, ' )
v L]

FROM customers
WHERE INITCAP(SUBSTR{cust_ name, INS BEst name,' '"}+1)) LIKE 'Mc%';

C) SELECT SUBSTR(cust_name, INSTR(c St
FROM customers fo”
WHERE SUBSTR{cust_name, INSTR ﬂ-st_namef' 'J+1l) LIEKE INITCAP("MCS%'):;

D) SELECT SUBSTR(cust_name,
FEOM customers
WHERE INITCAP(SUBSTR {(cust_ name, INSTR (cust name,' ')+1)) = INITCAP('MC%"'):

'TR (cust_name, ' ')+1)

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 2

What are two reasons to create synonyms? (Choose two.)
A. You have too many tables.

B. Your tables names are too long.

C. Your tables have difficult names.
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D. You want to work on your own tables.

E. You want to use another schemal\'s tables.
F. You have too many columns in your tables.
Correct Answer: BC

Create a synonyms when the names of the tables are too long or the table names are difficult.

QUESTION 3

Which two statements are true about constraints? (Choose two.)

A. The UNIQUE constraint does not permit a null value for the column.

B. A UNIQUE index gets created for columns with PRIMARY KEY and UNIQUE constraints.

C. The PRIMARY KEY and FOREIGN KEY constraints create a UNIQUE index.

D. The NOT NULL constraint ensures that null values are not permitted for the column.

Correct Answer: BD

B: A unique constraint can contain null values because null values cannot be compared to anything.
D:

The NOT NULL constraint ensure that null value are not permitted for the column Incorrect answer:
A

statement is not true

C.

statement is not true Refer: Introduction to Oracle9i: SQL, Oracle University Study Guide, 10-9

QUESTION 4

Examine the structure of the products table:

Name Hull? Type

PROD ID HOT NU 'ﬁ('&NUMEER (4)
FROD HNAME VARCHARZ (20)
PROD STATUS {Fég VARCHARZ (6)
QTY IN HAND @fﬁ@ NUMBER (8, 2)
UNIT_ FRICE NUMBER (10, 2)

You want to display the names of the products that have the highest total value for UNIT_PRICE * QTY_IN_HAND.
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Which SQL statement gives the required output?

A) SELECT prod name
FRCM products
WHERE (unit price * gty_in_hand)
FROM products) ;

FRCM products
WHERE (unit_price * gty _in_hand)
FROM products

&
GROUP BY prod_name) ; @\
C) SELECT prod_name @
FROM products %

GROUP BY prod_name @
HAVING MAX (unit_price * gty Jud
FROM products

GROUP BY prod name) ;

B) SELECT prod_name @)@

(SELECT h@{unit_price * gty_in_hand)

D) SELECT prod name
FROM products

(SELECT MAX(unit_price * gty_in hand)

land) = (SELECT MAX (unit price * gty _in hand)

WHERE (unit price * gty in hand) = (SELECT MAX(SUM(unit price * gty in hand))

FROM products)
GROUP BY prod name;

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 5

You need to list the employees in DEPARTMENT_ID 30 in a single row, ordered by HIRE_DATE. Examine the sample

output: Which query will provide the required output?

Raphaely; Khoo; Tobias; Baida; Hisluro; Colmenares
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A) SELECT LISTAGG(last_name)
WITHIN GROUP ORDER BY (hire date) "Emp list™, MIN(hire date} "Earliest"™
FROM employees

WHERE department_id = 30; @
B} SELECT LISTAGG{last_name, LI T |
WITHIN GROUP (ORDER BY hire date) "Emp gad&t™, MIN(hire date) "Earliest™
FROM employees \‘1
WHERE department_id = 30;

C) SELECT LISTAGG(last_name, Eip 1ist"”, MIN(hire_date) "Earliest”
FROM employees :
WHERE department_id = 30
WITHIN GROUP ORDER BY hi s

D) SELECT LISTAGG (last_ -:.-.;* ; ') "EMP_LIST", MIN(hire_date) "Earliest"”

FRCM employeas
WHERE department_id = 30
ORDER BY hire_datE;

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B
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